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Typlcal exposed area B \cctron Microscopy

Electron Source 300 KV
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Transmission

Typlcal exposed area , Electron Microscopy
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Transmission

Ty p I Ca I expose d a re a Electron Microscopy

Electron Source 300 KV
~2x10% m/s (78% of ¢)

~ Typical dose:
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Cw?ms
X-ray

)
Defracted Rays

H

100 Jm an\

at the detector level: 10% photons / s / mm?
Detector surface: ~25220 mm?

108 * 25220 = 2.522 * 10"? photons / s

100 uym / 3*10% m/s = 3.3*10* s ~= 33 fentoseconds
2.522*10"? photons/s * (3.3 *10 "3 s) =

8.4 photons/100 ym (inside the crystal)
l.e. the photons are spaced by ~12 um !




z’hﬁxp(r, t) = 2 V2¥(r, t) + V(r)¥(r, t)

ot 2m

Where did we get that (equation) from”? Nowhere.
It Is not possible to derive it from anything you
know. It came out of the mind of Schrodinger.

—Richard Feynman



ihz\lf(r, t) = a2 V2¥(r, t) V(r)\I!(r t)

ot 2m

V(r) + V(r)
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z’hg\lf(r, t) = a2 V2¥(r, t) V(r)‘If(r t)

ot 2m
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Apath = (AZ/cos(20)-AZ)

a=AZ

c =/AZ/cos(20)
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Apath = (AZ/cos(20)-AZ)
X = (211/\) (AZ/cos(26)-AZ)

c =/AZIcos(20) X = (211/A) AZ (1/cos(20)-1)
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X = (211/A) AZ (©?/2)

1(9) = 0(0) + ¢(0) sin(x(0))




X = (211/A) AZ (©?/2)

1(0) = 0(0) + ¢ ,(0) sin(x(0))
[(0) = 8(0) + ¢(0) sin(2m/A AZ 6%/2)




Apath = (AZ/cos(20)-AZ)

c =/AZ/cos(20)
20 _ 5
a=AZ X = (211/\) AZ (©7/2)

1(0) = 0(0) + ¢,(0) sin(x(0))
[(0) = 8(0) + ¢(0) sin(2m/A AZ 6%/2)

Spatial frequency ( 1/A)



